Qudwl wnwpluyh
Uhoul Qudwb
ngmg} Au | Quhtwb | Uhwynp %t“}‘“dhhn
whubpp | Lwlulp
puw CPV Uluinudp (ptpwg | dhwynpp | hghup (o)
juuwljup wlwng)
guuly
30197631|@ninp A4 Y4 wuinuth 1900 125200 68
39263200|Gpwukbjuljuyh ghpp 4 hwwn 550 4950 9
30192137 |dwwnhwn ub Q7 huin 60 2880 48
30192121-1|qphy Q. hwwn 100 7000 70
39263420|wdpwly uks - 74 wnith 350 5250 15
39263410|wdpuy thnpp QZ uinith 250 5000 20
wukn Juphsh hwdwp
30197110|Uhohl Q2 wnnith 150 1500 10
wukn Juphsh hwdwp
30197110|thnpp Q2 nnuh 80 800 10
30197232 |jwpwquljup Q2 huwn 150 7500 50
30192125|Uwpljkp Q2 huin 100 1000 10
Qswithp dwplykp
30192125 |(wywlnt) okpdwljuynin| Q2 huin 700 5600 8
39263530|ubnuuljuy Uks Q2 huwn 70 3220 46
39263510|ubknuwlju thnpp Q2 hwwn 60 2100 35
39263510|ubknuuiljuy vhohl S 74 hwun 40 800 20
30192160[swnnhfu Qz hunn 250 1000 4
22600000 (Bwtiwp 4 hwiwn 250 500 2
Onup upnidubnh
30199420 |hwdwip thnpp QZ hun 200 800 4
[Bninpe uomudutph
30199420 hwidwip ks Q2 hwwn 250 1000 4
24910000{unuhtd snp QZ huwn 370 5550 15
30192100{(tEwnhi Q2 huwn 100 1000 10
30197231 %y Q. nntth 2000 18000 9
39292500|Lwtinl QZ, huiwn 350 3500 10
39241210|gpuwuklyuljuyhlt Ujpun | Q2 huiwn 450 1800 4




Yuphs, Uhtish 20 phpph

30197320{hwdwp Qz huin 1700 8500 5
Yuphy, 20-50 phipph
30197320} hwdwn Qz hwwn 2000 6000 3
30140000{huoihs Ukpkuw QZ hwwn 2700 5400 2
qljuwynp ghpp Q2 huin 800 800 1
30197300-1[ %y Q. hurin 2200 4400 2
30234500]k.4nhs 8GB Q. huitn 4000 8000 2
30234500|k.uphs 4GB Q2 huin 2600 5200 2
30199140|jwjjw /mywpeninp/ Q2 thuphp 5500 16500 3
30192133[Uphs Q. hutn 150 2250 15
Bnpuymbuy /Ynown
30197234|juiquny QZ hun 1000 10000 10
Pnpuywiuly /pnpt,
30197233 |phkikpny QZ huin 100 2500 25
30197120|Yndqud, Ukinwunuljub Q2 wnnith 100 1000 10
Undqud, wiwundwuk
30197120|qjuhlyikpny Qz unith 350 1750 5
9132000|pkuqht ywpkuhnid QZ 1hwnp 500 1750000 3500
9132000|pkliqhti nkgnyyjup Q2 {hup 500 | 11300000 | 22600
1hq. Junkihp
9134200|/Ywpnhiikpny/ Q7 {hnp 470 | 2350000 | 5000
9134200[nhq. Jwnkihp Uu 1hwp 280 | 2240000 | 8000
Ubnudud quiq Ul fud 200 | 1000000 | 5000
Ulwnhdphq Q2 1hwip 1000 8000 8
3144000(Uwpwnljng ¥U.Q-53 Q2 hunn 34000 34000 1
Uwpinling @U.L-2705 Q2 huwn 34000 34000 1
34351200|Udwnnnnn QU.L-2705 QZ huwn 37000 74000 2
Uyunnnnn/wnpuljinnp
34351200|E4YUY-Fo2621 Q2 hwwn 37000 74000 2
34351200|UtJwunnn /2U.2-31029 QZ huin 25000 100000 4
34331300|Utjwunig /2U.2-31029 QZ hwwn 5000 20000 4
31518100|Unglih jntuwpduly Q2 hunn 14000 28000 2
34913000|Ehuyht Ukjuwthqu Q2  |hwjupwsdni| 65000 65000 1
Ungbpuljuwt Yndnuly
34322100((2U.2-31029) Q2 hujupwédni| 12000 12000 1
Upgbkpuljdwl uhunbtdh
34321130{dwulidbun (FU.2-31029) Q2 |hwjwpwéni| 800 800 1
349130000|tkunp /2U.L2-31029 QZ hwJwpwbni| 20000 20000 1




Onh thwljul @ 1/2 Q2 huin 1200 | 12000 10
2nph thuljub @ 1 Q2 hwin 2800 14000 5
Onh thuljwh @ 2 Q2 huiwn 10000 | 40000 4
Qph &ynil unnnduly 1d QZ hwwn 1100 22000 20
“Fniph gugninh Bt

funnnyuly Q2 1700 8500 5
Ltnl uyhunwl 4 liq 1300 39000 30
Sniqupuliwlintp Q2 huwn 35000 70000 2
Tnwl thuljwb Q2 hwwn 4000 40000 10
Tnwl thuljutth thenty Q2 hwwn 800| 8000 10
Bl dwppuy Qz hun 700| 14000 20
. Ulugwwnhs Q2 hwin 700| 7000 10
E). upng Q7 hunn 2520] 50400 20
Uhjhlnt Q2 wnnuth 1200{ 6000 5
[FEnhlik junnnduly Q2 Uknp 380/ 11400 30
fph énpuly gigninny QZ huwn 10000/ 100000 10
Gowljgdwt Eklwnpng 3

U 9z e 4000/ 4000 1
Lyugupwih uhdnl 74 hwwn 900| 9000 10
Uupulh (wulbkn) Ixd| Q2 T 0

Lwp wuplkwh QZ 1hwp 0 10
8kukln Q2 g 56| 28000 500
Snquphwl - Q2 hwwn 200] 2000 10
Uk Q2 huin 800[ 8000 10
Bhjh pudwly S Y4 hwun 250/ 5000 20
PLjuhy Q2 hwtn 4000( 8000 2
Zyneh pudwly Q2 huwn 130 2600 20
Unudul Q2 hwwn 250| 5000 20
Uthukh upphs 74 hwwn 400| 12000 30
Uknuith uthrng 24 huiwn 2500 25000 10
Uthukitbph hujupudn Qs hwjwpwéne 2600 39000 15
Unipgh puduly Q2 |hujwpwdnt 1400| 4200 3
Uy hwnuiljknkip

hwwpwdn S A 4200 63000 15
Upnn junhwinguhl 74 huun 0 50
Unphs kpkuh QZ hwn 1500{ 60000 40
Unphs punuhph - S 74 hwwn 2300| 46000 20
vuywp uyhunwl Q2 huwn 3000 30000 10
Qnqlng funhwibnguiht | @2 M 1000| 10000 10
E1. Lurdyy 100 9w 4 huwn 85| 8500 100
Cuwpwpwdw Q2 hwun 1000/ 5000 5
Chpunuwjupuqgnyp Q2 pu 0 32
Onnt pwduly 4 hwwn 100{ 5000 50
Ej. Uuipuling 74 huin 100| 8000 80
Sniqupui Ywppkjny pli

uwnilig 4 1000/ 10000 10




Udwh jJutunt uynitg| 92 250 7500 30
Oniquipuhb dwppknt bt

hbnnuly Q2 500/ 5000 10
O&wn dknph Q2 hurtn 280] 84000 300
Lwgph thnoh Q2 wuintth 450| 67500 150
Udwi jJuiiuynt hnnuy Q2 hwwn 500{ 60000 120
Uldknnghly vinuthny 4 uintth 120| 24000 200
dwykih uyhpun Q2 1hwp 180 5400 30
Uuwppnn thnoh Q2 hwiwn 250 6250 25
Uyyulh dubiugne

htnnuly Q2 huiwn 250 5000 20
Qnigqupwith pninpe Q2 uinith 100 25000 250
Uwnjhw Q2 Ubkwnp 200 2000 10
Tnhbph LWy

punuip Q2 dtnp 200 4000 20
Uwwlh 3ud Q2 pd 0 20
Zuig p/in Q2 g 400 480000 1200
Yuipugq ubkpnigpuyht QZ g 4500 675000 150
Nwlthp Q7 Uq 1800] 288000 160
Ppyuubtp Q2 lg 1200 210000 175
YQuplwonn Q2 g 1600 112000 70
QML QZ huwn 65 143000 2200
Uwdnil ¥4 lig 500 80000 160
Qb (wunpunh) Q2 Uq 1500] 225000 150
Uknp Q2 Lig 3000/ 90000 30
‘Lpptipohly Q2 lg 1700 68000 40
Un dwip Q’z g 160 2400 15
Unuguws uli phpwp Q2 be! 3500 31500 9
Unugws yupdhp phpup| 92 [Se} 3000 12000 4
Ul phpuip hwnhbuwdnp Y4 liq 7000 14000 2
Ujnip p/n 24 g 220 17600 80
Cuipupujwugq Qz g 350 38500 110
Z)nie plwul Q2 thup 300 99000 330
Objpnil ul Q2 Lq 1700 68000 40
Ok (UEhwhquidyu) Q2 lig 9000 45000 5
Qbp Q7 1hwnp 700/ 63000 90
8nin huywb Q. g 2000] 110000 55
Nuy Q2 g 500 12500 25
Pphud Q2 Ug 600] 60000 100
Quwpnhu nbnhl Q2 liq 320 12800 40
Uhubin Q2 liq 1000 30000 30
Uywglunh Q2 g 300 6000 20
Uwlupnt Q2 [Fe! 280 8400 30
dEpuholy Qz lig 280 8400 30
Zwgup Q2 lig 500 35000 70
Lnph huwnhlurnp Q7 g 1000 55000 55
Uwhwuwl dwdup Q. lig 300 12000 40
Zunjudw]up Q2 lig 320 22400 70
Yuip Q2 1huip 200 26000 130




Uhu nnujuiph 4 lig 3000 1350000 450
Uhu Jungh Q Ug 3200 128000 40
Uhu hurjh Q2 Lq 1300] 325000 250
Sndwinh dwdniy Q2 lig 1000 45000 45
Luguifu Q2 1hwp 200 600 3
Twthunt wbpl Q. liq 1000 1500 1,5
Unudkwn /onlnjun Q2 lig 2500 150000 60
[OpnL qupnilig (putijw) Q2 g 800 48000 60
Qupnfu fubws (puliljw) Q2 lg 1100 38500 35
Uniiul (putiju) QZ g 1600 104000 65
hunugpws jup Q2 lq 1200 6000 5
EBahyuwgnpkl (puiyw)| Q2 lig 1100 16500 15
Ynuwp 4 liq 1500 15000 10
Ywpundhy 24 liq 200 60000 300
Unju giniju Q2 lig 300 39000 130
Udpniy Q2 lg 250 17500 70
LnjhY 9z, Lq 300/ 75000 250
Junudp 4 liq 200 36000 180
Puigqnily Q2 lig 250 12500 50
Guiquip Q2 Uq 250 20000 80
HQwpnihq Q2 ligq 400 24000 60
Yuwhwsh pwnp 4 lig 2000 160000 80
Uhpgq (juwrp) 24 lig 250 62500 250
Loph ljwius 9 Ug 300/ 18000 60
Unnw Q. Uq 1000 2000 2
Uwbh ypniyuw Q2 Uq 1000] 30000 30
Upinnp Q g 2000 6000 3
Ehpwp Jubwgy 4 liq 300 12000 40
Lhgpny SEN-15 UUE-90 Q2 thuip 1300 130000 100
Lhung Q. lig 2000 84000 42
thg. 8nin M-10 G2K Q2 1hwnp 1300 780000] 600
3niny MGE-46 B Y4 1huip 1300 260000 200
Unwibigpuiljuy 2308 QZ huwn 3000 24000 8
Unwhgpwluy 7509 4 huiwn 3500 7000 2
Unwlgpwluy 7511 QZ hwwn 5000 10000 2
Sninh wnuy Q2 huwn 14000 14000 1
30237111|Uwipwnljng /FU.L-31029/ Y4 hwiin 45000 45000 1
39191200|NMwuwwn /3U.L-31029/ %2 |hwjwpwéni| 40000 40000 1
34351200|Ubjunny YUUUQ Q2 hwwn 75000 450000 6
34351200({UlJwunnn 1UQ-2121 Qz hwun 30000 120000 4
VEYuyht Ukuwbhqu
34913000|US2-82 ¥4 hwwn 180000 180000 1
34321130|Ungljuljdwl fuyngljw @2  |bwdupwéni| 18000 18000 il




Onuwtigdw inuthh

34321110|nhuyy Q. hunn 8000 8000 1
Onhuiwigdwlt intthh

34321110{wihwniw Q2 huwn 15000 15000 1

34321121{8ninh quahs Q2 hwwn 3500 7000 2

42511128|0Onh quihs Nissan X-TR-rail Q2 hwuwn 5500 16500 3

42511128|Onh qinhs GUQ-2705 Q2 hun 2000 6000 3
"thqkih quahs Q.2 hwwn 8000 16000 2
EiEunpng Q2 uintth 5500 99000 18
Uhp winugud Q2 liq 300 39000 130
Ulnp QZ thuip 62000 186000 3
Snujuiq Q2 1hwnp 23000 | 345000 15
Qupuub Q2 1hwp 5000 200000 40
Puikinnl Q. lig 5500 | 165000 30
Nnnnuhl gnin Q2 g 6000 120000 20
Fnpnnjub frutninipy
/priduitynip/ Uu, lg 3000 | 300000 | 100
SElwgnl /pnidwiynip/ QZ 1hwup 10000 500000 50
Zkpphghn Q2, 1huip 3000 300000 100
Uhounwuyuila Q2 {hwp 7000 105000 15
Ulluuuyuh Q. lg 5000 50000 10
Ok Q. liq 500 50000 100
Ubunwunuunp 74 g 750 2250000 3000
Zhwunil Qz hwun 1400 4200000 3000
Osupuljuil penu
/phuhwytu dwpnip

24311114|H2504/ Q2 {hunp 1500 9000 6

24311116|2pwdtih pinphy QZ 1hwup 800 4400 5,5

24311260/ Luwnphnudh hhnpopuhny Qz g 1000 4000 4
Untunwljinughe

38411200|ptpUwsuith Q2 hwiwn 4200 4200 1
Onpdwhing

33191310|otipUuljuynili (18-20uUy) QZ hwuwn 110 66000 600
wnjhtphiEuught

19642100 |punuiup Qz lig 1250 25000 20
hnnujuwniinipny 9188 liq 75 45000 600
wunbyuluw)h ubjhnpw Uu wuwnl 9000 9000 1
Unipwohqui- uljniqu Uu uintth 45000 45000 1

33691163 |wqup-wiqup Uu lig 35000 35000 il
whinnpnodulb

15551800|oh&niyukp UU. wnnuth 38000 | 152000 4

9221200 Nupuwdh Uu uintth 19000 38000 2

uwpiwrnqu (phthwljui

24321610|dwpnip) Ul lig 6000 48000 8




24000000 wnkhuihhwlwl uyhpwn Uu 1huip 1400 16800 12
Gtpwyph wn
/phuhwybu ywpnip
15872700|NacCl/ QZ g 800 8000 10
24000000(Eph) uwhpin Q, 1 2000 20000 10
24000000| thtphy kphp Q2 L 5000 15000 3
24000000 Ughknnis Q. 1 1200 8400 7
24000000 thutph) dnpdwihn Q2 1 3000 6000 2
Unuppnt /phuhuytu
24000000|dwpnip/ Q2 1hwup 1000 5000 5
24000000|zkpuwity QZ 1 2100 10500 5
24000000|Ywiughjyuplbp QZ wnnih 250 2500 10
24000000{Uhyning Q. wnuh 60000 | 60000 3
15991700|$hjinph prinp Q. Ya 3200 32000 10
Qph gninpohwgling
uwnp Ul hwiwn 30000 30000 1
33691163 |Eunn wqup Q2 lg 55000 | 55000 1
33691163|MRS wqup Q. g 60500 | 60500 1
33691163|MRS wpqutiuly Q. g 60500 | 60500 1
33691163 |Ubnupwp wgqun 4 g 55000 55000 1
Upjnibuyhtt wmquiph
33691163 |hhup : Q7 lig 55000 | 55000 1
Uhowyuwyp Helicobacter
pilori-h wgkguwh
hudwp Q7 Uq 105600 | 105600 1
Bhpphluynp wqup
33691163 |juid wgquip-wiquip Qz lq 38500 38500 1
Uydunnuwn yhybkwukp,
sampler Q2 hwwn 27500 110000 4
Uwbpbwpuwbiuljub
wuknubp wwppbp
duypkpny QZ huwn 4000 12000 3
Juljnudugh
thnpdwiinputp jupdhp
(wpnnt wpntl
33191310|Jkpguknt hwdwp) Q. wnnith 5500 27500 5
Juwlynuduwgh
thnpdwbmpubp uyhwwly
(Jwpnnt wpnti
33191310|Jtpgubkynm hudwip) A wnntth 5500 27500 5
42910000|2nh popuwh uwpp Q.2 huin 302000 | 302000 1
42941160| @ tpunutnun QZ huin 215000 215000 1
Lhnbhjhquunp Q2 hwwn 4020000 | 4020000 1
38431430|@withwhwphy Q2 hwwn 1785000 | 1785000 1
Yhuuwmtunugni pjul
Yuwphikn Q7 hurnn | 2750000 | 2750000 1
33191110[Udwnljjun] Q. hunn 930000 | 930000 1




4
4
:’J/
U&h Yupquiynphyitip
fwinipuhly, ghplpbihb,
24451130|yhtikwnhis / Ul nnith 18000 | 90000 5
Upynudhtk mnypuljutp
Julniduyght Uu huiwn 145 101500 700
33141117 | Fudpuly UU liq 2500 7500 3
Puiighy UU thuphp 240 12000 50
Puiighy -1 Q2 Ubkwnp 160 3200 20
Ugnunujui ppnt
24000000| (phuhwiyku dwipnip) Q2 jhwnp 800 6400 8
24000000{9whnudh hhnpopuhy Q2 liq 1300 5200 4
24000000| Udntihniuh hhnpopuhn Q2 |pwip 1200 3600 3
24000000|Uninuhnidh unipdwn QZ g 1500 45000 30
24000000|Uudnithnith Juppnwn QZ ligq 2500 7500 3
Puguiwppyuyhl
24000000 winithnid /CHCOONH4/ Qz lg 2500 25000 10
Updwiph thwnpwwn
24000000|AgNO3 Y4 liq 400000 40000 0,1
Shpuwitiwy PH
Ukwnphuyh hudwp Q2 wnith 5000 10000 2
Cuuwunhy wnidhuk 20
nknuiing Uu hwwn 1600 20800 13
Uhlpnyhykwn (Medicine
38431720|dropper) Qz huin 26000 26000 1
Uhypnuyhujtinh
38431720 |5wypwlwyiikp, 2.0 Ul Qz thuphp 8500 17000 2
33141129|Chswnwljub phuwl Q. hwin 450 4500 10
Muwundwub
wnwppuibibp Q2 huwn 2600 20800 8
Euh djpun Q2 huwn 2500 5000 2
44171400|$n qu Q. uphp 2000 16000 8
Lnudhthghtunuyghti
[l tp 147ud-80BT
31521430|(hwyjwupwdni) Uu hwwn 4000 48000 12
31521210|Ltn yudwkpn E27, 15BT UU hwn 1900 30400 16
Lnulhthghbwnwyht
pudy bkp 120ud-40BT
31521430 (hwujwpwédni) Ul hun 3000 48000 16
31510000|ky. judykp Q2 huwiwn 1500 9000 6
31510000(E. judwkp QZ hun 100 5000 50
44300000|hnuwiph yuip 2x2.5 Q2 U 160 16000 100
Uwnthn ynudk 2.5 dd
31331280|pwn. Q2 U 300 18000 60
ElEjunpuwhwunnppuljui
nipjnih swthnn uwpp
Uwpluwl PSC-154TDS, ES/| Q2 hwwn 200000 | 200000 1
B Ejwnpuljut
Epljupugdwi jup /3d b
31685000/5u/ Q2 hwwn 1800 3600 2




,"/
44163170 (Fkinhitk junnndwly Q2 u 400 12000 30
44163170 (Fkinhuk junnndwly 3/4 Q2 Utanp 500 10000 20
39224330|nny)] wyjwuwndwuk Q2 huwn 600 6000 10
39224330|nniy ghijuiyuin Q2 huiwn 1300 6500 5
39224332|nn1; Q2 hwwn 1500 6000 4
34921440|Unpuduil, yjwuwndwuk | 92 huwn 600 6000 10
Ljwgnn dwppnn
39831240|ynipkp Q2 |hunjupwdni| 41000 | 41000 1
39831246|Udwith hnnily QZ hwin 800 4800 6
39812600|Uwppny thnoh Q2 hwwn 400 2400 6
33711480|O&wn htnnily Qz hwwn 650 3900 6
33711480|O&win Q2 huwn 260 4940 19
44111200[8kukinn Q2 wupl 3150 31500 10
24951130|Uhjhyntt Q2 huin 1200 2400 2
44111410|Lkply Q2 huwn 5800 17400 3
421311009 huwnhy Q2 hwwn 4500 9000 2
44511200|Unng dtnph QZ huiwn 2000 4000 2
18421130|Qtnling Q. qnuq 400 8800 22
31684400|dwpnul 4 huin 700 4900 7
Pnjqupljuih pup Q2 hwwn 1200 18000 15
uguiinidp puignn
39831247 |htinnly QZ hwwn 550 1650
44521170/9Ywjunyh Ynjuytp Q2 hwwn 2500 2500 1
39221410{Uy by Qz hwuwn 1000 10000 10
39221410{Udk gnquphwiyh hkwn QZ huiwn 1500 6000 4
39714100]Onunthnjuhy Q. hwtn 550 3850 7
Jupswntnbuwluwb phywpunwdkinh whn-
wpnekiunp / % MN.U.EpLugub
J
G juwynp hwyjwuuwh //j/ﬂﬁ%( 0.U.Punfhlim
Qunudubkph b Woipuwnkpbhiuwlub dunwljupupdub
puduh Jupnhy 2.U. N linlyub




